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Ex/Sans/PG/3.5E/75/2017

MASTER OF ARTS EXAMINATION, 2017
(2nd Year, 3rd Semester)

SANSKRIT

Course : XV/ E

[ Asokan Inscriptions ]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1— EÍFXPáFP&F¶FWðF] ÑF¦˜F ÒèÎFFO õF]ÞP;FÞF ¼WæFÎFF;FÜFF a PáFÑÜFF ˜F
õFÛFFÍFWÜFFO— 1×5=5

(=+) iiP=+ÜFk ˜F] ÍFkÛFW P¶Fjj?

(&F) =+FPÎF iiEFPõFÎFæF;FFPÛFPÎF ÎFFÛFjj?

(;F) Ò»FÛFÛF]&ÜFõ¶FÛÚFèFFõFÎFFÎF]õFFÞk =W+ ÞF¡FÑF]ßðFF: EèFX=W+ÎF PÎFÜF]ƒ¶FF
EFõFÎFh?

(fF) ðFòÛF]&ÜFPèFáFFÎF]èFFõFÎFW õFæFaáFX=+Pù¶FõÜF ÛF[áFk P=+ÛFh?

(‘~) ˜F¶F]¼aèFÛF]&ÜFPèFáFFÎF]èFFõFÎFFÎF]õFFÞk =+õÜFFÑÜF»FaõÜF ÑF]ÎFÞFæF_¸FFY =+X
ùW¶F]:?

(˜F) ii¼õFæFõFFPÚF¶FX õFk¶FXjj EèFX=+: P=k+ =_+¶FæFFÎF h? =W+ÎF
P‹ñÑF[æFFaÙ¼WÎF õFù ¶F¼hÙFðFb õFÛFFÑF¶FP¶F?

(š) ÑF¦˜FÛFÛF]&ÜFPèFáFFÎF]èFFõFÎFFÎF]õFFÞk =+: ii¼]=+Þk =+ÞXP¶Fjj?
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2— õFkõ=_+¶F˜šFÜFF Ò¼UÜF¶FFÛF < 2½

J¶F=+FÜF ¼WæFFÎFkPÑFÜFX PÑFÜF¼PõF ÞF¡FF ÜFõFX æF P=+P¶F æF GšP¶F— ÜFk
¶F] P=+P˜F ÑFPÞ=+FÛF¶FW ¼WæFFÎFk PÒÜFX PÒÜF¼PõF ÞF¡FF ¶F õFæFk ÑFFÞP·F=+FÜF
P=k+P¶F õF=+áFW EÑFÑFPÞöFæFW HõF— JõF ¶F] ÑFPÞõFæFW ÜF EÑF]k¦Fk—

3— EF”~áFÚFFðFÜFF EÎF]æFF¼: =+¶FaæÜF:— 2½

¼WæFFÎFkPÑFÜFW PÑFÜF¼PðF áFF¡FF ùWæFk EFùF— ÎFP»F ùWP°ðFW ¼FÎFW EP¼ðF
ÍFkÛF-¼FÎFW ÍFÛF-ðFPæFÚF;FW ÍFkÛF-ðFkæFÍFW— ¶F¶F JðFW ¼FðF ÚF©=+PðF ðFÛÜFF
ÑFP©ÑFP¶F— ÛFF¶FF-PÑFP¶FðF] ðF]ðF]ðFF—

4— EÍFXPáFP&F¶FWðF] ÂÜFÛFFPêF¶ÜF P©ÑÑFÎFU =+FÜFFa— 2½×2=5

GPõ·FPÍFÜF‡FÛFùÛF·F– æF˜FPÛù æF PæFÎFU¶FPÛù– PæFÜFXùFáF-õFÛF¶FF ˜F
PõFÜF ¼k°-õFÛF¶FF ˜FF– ÙFkÍFÎFÛFX&FFPÎF—

5— EÍFXPáFP&F¶FWðF] ·FÜF: ÒèÎFF: õFÛFFÍFWÜFF:— ¶FWðF] EÎÜF¶FÛF: õF]ÞP;FÞF
¼WæFÎFF;FÜFFa PáFÑÜFF ˜F áFW&FÎFUÜF:— 5×3=15

(=+) P=+ÜF¼hæFðFFaPÚFPðFƒ¶FWÎF EèFX=W+ÎF ÍFÛFaÛFùFÛFF·FF: =_+¶FF:? ¶FW =]+·F
=]+·F æÜFFÑF_¶FF EFõFÎFh? 1+4

(&F) õFæFaÑFFðFa¼FÎFFk õFFÞæF_PÊ: =W+ÎF Ò=+FÞWµF ¡FFÜF¶FW GP¶F PæFðFÜFk
ÂF¼èFÛF]&FPèFáFFÎF]èFFõFÎFFÎF]õFFÞk Ò¼èÜFa¶FFÛFh—

(;F) = W +  EFõFÎ F h  Þ¡¡ F ]=+ F:? ¶F W ð F F k  =+ F P Î F  =+¶ F a æÜ F F PÎ F
˜F¶F ]»F aÛF]&ÜFõ¶FÛÚFFÎF ]èFFõFÎF W HPááF&ÜFÎ¶F W? =+P¶F P¼æFõFF:
EèFX=W+ÎF iiÜFX¶FW P¼ÎFWjj? iiÎFFP¶F=+F æF =+FPÎF PÎF¤FÑFPÜFõFkP¶F
¡FUPæF¶FFÜFW ¶FFÎFkjj G¶ÜFPõÛFÎFh PæFðFÜFW ÑFPµ°¶FFÎFFk æÜFF&ÜFFÎFFPÎF
æFµÜFaÎ¶FFÛFh— 1+2+½+1½
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(fF) ÑF¦˜FÛFÛF]&FÜFõ¶FÛÚFFÎF]èFFõFÎFW =W+ ˜F¶F]ðÑF¼F EÙFÍÜFF: =_+¶FF:?
=W+ðF] P¼æFõFWðF] ÛF¶õÜF: ÎF PæF=eW+¶FæÜF:? æF_Ê=]+ƒ=]+©FÎFFk PæFðFÜFW
EèFX= W + Î F =+ XNPÑ F PÎ Fð F W Í F  EFÞXP Ñ F ¶ F : P=+Û F h?
P=+ÜF¼hæFðFFaPÚFPðFƒ¶FWÎF EèFX=W+ÎF ¡FUæFFPÎF EæFÍÜFFPÎF =_+¶FFPÎF?
˜F¶F]ÛFFaõÜFFk =W+ðFFk ¡FUæFFÎFFk áF‡FµFk ÎFX =+¶FaæÜFÛFh?

1+1½+½+1+1

(‘~) ÍFÛFaPÎFÜFÛFWÎF PÎFÍÜFF¶ÜFF ˜F P=k+ ÚFæFP¶F? iiPÎF¤FP¶FÜFFjj G¶ÜFÎFWÎF
P=k+ ÙF]ÍÜF¶FW? ÛFFYÜFaÒèFFõFÎFõÜF =W+ðFFk ÛF]&ÜFFPÍF=+FPÞ=+FµFFÛF]ááFW&F:
õFÑ¶FÛFÛF]&ÜFPèFáFFÎF]èFFõFÎFW æF¶Fa¶FW? ¶FWðFFk =+¶ÜFaæÜFFPÎF æFµÜFaÎ¶FFÛFh—

½+1+1+2½

___________
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